





STILT/PARKING +0.150M.LVL.

STILT/PARKING +0.150M.LVL.

5.309

TERRACE ON

2ND & 4TH FLR.

WING. B

ENCL.BAL.

ABOVE

3.323

METER ROOM

2.55X1.50 +0.300M.LVLD1

ABOVE

STILT/PARKING

+0.150M.LVL.

TERRACE ON S 1ST & 3RD FLR.

ENCL.BAL. ABOVE

STILT/PARKING +0.150M.LVL.

ABOVE

SCALE: 1:100

GROUND FLOOR PLAN

29.017

ENCL.BAL.

VENTILATION SHAFT

2.525

VENTILATION

SHAFT

ABOVE

PROJECTED

STILT/PARKING +0.150M.LVL.

STILT/PARKING +0.150M.LVL.

ENCL.BAL.

ABOVE

O TERRACE ON 1ST & 3RD FLR.

ENCL.BAL.

2.825

ENCL.BAL.

ABOVE

16 5.309 3.323 GROUND FLOOR AREA DIAGRAM SCALE: 1:100

SR. NO.	NUMBER	NUMBI OF DEDUCT		1/2	BASE	HEIGHT	AREA
					(M)	(M)	(SQM)
1	2	3		4	5	6	(7) = (3)X(4)X(5)X(6)
	GROUND F	LOOR					
1	А	1	.00	1.00	11.956	24.032	287.327
					TOTAL	ADDITION	287.327
	DEDUCTIO	N					
2	1	1	.00	1.00	0.300	0.270	0.081
3	2	1	.00	1.00	4.796	1.000	4.796
4	3	1	.00	1.00	3.156	1.500	4.734
5	4	1	.00	1.00	4.806	0.500	2.403
6	5	1	.00	1.00	1.806	2.850	5.147
7	6	1	.00	1.00	0.481	2.879	1.385
8	7	1	.00	1.00	1.081	0.271	0.293
9	8	1	.00	1.00	2.245	0.350	0.786
10	9	1	.00	1.00	1.250	0.350	0.438
11	10	1	.00	1.00	2.450	1.650	4.043
12	11	1	.00	1.00	0.450	0.350	0.158
13	12	1	.00	1.00	1.850	0.350	0.648
14	13	1	.00	1.00	0.600	0.310	0.186
15	14	1	.00	1.00	1.570	5.850	9.185
16	15	1	.00	1.00	11.956	8.577	102.547
17	16	1	.00	1.00	5.309	6.455	34.270
18	17	1	.00	0.50	2.015	2.015	2.030
19	18	1	.00	1.00	4.026	1.117	4.497
20	19	1	.00	0.50	1.422	1.422	1.011
21	20	1	.00	0.50	1.117	1.117	0.624
22	21	1	.00	0.50	1.500	1.064	0.798
23	22	1	.00	0.50	3.839	0.443	0.850
24	23	1.	00	0.50	2.278	1.651	1.880
25	24	1.	00	0.50	2.616	1.060	1.386
26	25	1.	00	0.50	2.700	0.501	0.676
27	26	1.	00	0.50	3.323	1.555	2.584
28	27	1.	00	0.50	3.323	3.323	5.521
29	28	1.	00	1.00	1.914	0.350	0.670
30	29	1.	00	1.00	1.886	0.269	0.507
31	30	1.	00	1.00	0.600	0.350	0.210
32	31	1.	00	1.00	0.914	0.350	0.320
33	32	1.	00	0.50	2.350	0.080	0.094
					TOTAL DE	DUCTION	194.758
		ТОТ	AL BI	JILT UP AR	REAGROUN	ID FLOOR	92.569



ATTESTED BY ME Freled 1813 HEMA S. BANDAL B.S.L., L.L.B., M.L.S. ADVOCATE HIGH COURT & NOTARY, GOVT. OF INDIA
Flat No. A-302, Om Siddhi Tower Co-op.
Hsg. Soc. Ltd.. Plot No. 115, 116 & 117,
Sector-27, Nervel (E)-400706.
Navi Mumbai, Maharashtra.

0 7 JUL 2023 AR. DEEPAK THAKA CA/92/14485

DRAWING FOR BUILDING PERMISSION SHEET NO.

CONTENT: GROUND FLOOR PLAN & CAL'N, SECTION-AA, SECTION-BB, SECTION-CC & SECTION-DD, BALC. & TERR.STATEMENT

AS BUILT DRAWING APPROVED subject to condition CIDCO/NAINA/PANVEL/VICHUMBE/BP-00318/OC/

O. OF UNIT PROPOSED	
) RESIDENTIAL	46.000
) COMMERCIAL	0.000

			And the second second second				
SCHEDULE OF LIGHT AND VENTILATION							
ROOM	BUILDING WING	TENEMENT NUMBER	CARPET AREA	WINDOW TYPE	L&V REQUIRED	L&V PROVIDED	
1	2	3	4	5	6=4/6	6	
LIVING	В	208	10.862	W	1.810	4.200	
KITCHEN	В	208	4.582	W1	0.764	2.250	
BEDROOM	В	208	8.053	W2	1.342	2.430	
BATH	В	208	1.440	V	0.240	0.450	
W.C.	В	208	1 080	V1	0.180	0.525	

		SIZE		SILL LEVEL (METER)	DESCRIPTION	
TYPE	WIDTH	HEIGHT	AREA (SQM)			
	(METER)	(METER)				
1	2	3	4 = 2 X 3	5	6	
D	1.000	2.100	2.100	0.000	T.W. FRAMED PANNELED DOC	
D1	0.900	2.100	1.890	0.000	T.W. FRAMED PANNELED DOC	
D2	0.750	2.100	1.575	0.000	T.W. FRAMED PANNELED DOC	
W	2.000	2.100	4.200	0.150	ALUMINIUM SLIDING WINDOW	
W1	1.500	1.350	2.025	0.900	ALUMINIUM SLIDING WINDOW	
W2	1.800	1.350	2.430	0.900	ALUMINIUM SLIDING WINDOW	
W3	2.000	1.350	2.700	0.900	ALUMINIUM SLIDING WINDOW	
W4	0.750	0.750	0.563	1.500	ALUMINIUM LOUVERED WINDO	
٧	0.600	0.750	0.450	1.500	ALUMINIUM LOUVERED WINDO	
V1	0.500	0.750	0.375	1.500	ALUMINIUM LOUVERED WINDO	
V2	0.700	0.750	0.525	1.500	ALUMINIUM LOUVERED WINDO	
FD	1.200	2.100	2.520	0.000	FIRE RATED DOOR	
RJ	2.500	1.800	4.500	0.450	RCC PRECAST JALI	

ITEM		SITE PLAN	BUILDING PLAN		
PLOT LINES					
EXISTING STREET					
FUTURE STREET					
PEMI. BUILDING LINE					
MARGINAL OPEN SPAC	ES	NO COLOUR	NO COLOUR		
PROPOSED WORK					
DRAINAGE & SEWERAG	SE WORK				
WATER SUPPLY WORK					
RWH LINE					
S.W. DRAIN					
RECREATIONAL OPEN	SPACES				
CAR PARKING			0		
TWO WHEELER PARKIN	IG		S		
CYCLE PARKING					
	NAME & SIGNATURE OF OWNER				

SHRI. UTTAM TUKARAM YALMAR M/S. VAASTU BUILDERS & DEVELOPERS

) SHRI. ARJUN HASHA PATIL	And I			
2) SMT. BABI DAMU PATIL	American Services			
S) SMT. SHAILA SHANIVAR CHIMNE	र्गाएन्वा यभी अव			
) SHRI, GANESH NAMDEV PATIL	bypatil			
) SMT.TULSABAI JOMA PATIL	कुट्टिमाआसा १५६०			
) KARISHMA JOMA PATIL	BCRISTAI GE			
) SHRI. ROHIT JOMA PATIL	Pohit			
For Purva Properties				

SHRI. SANDEEP GUNDAJI SAWANT M/S. PURVA PROPERTIES THROUGH PROP. JOB NO. DRG NO. SCALE DRAWN BY CHECKED BY

20/05/2023 VST/NAINA/04 19 AS SHOWN AS **V.P** DESCREPTION OF PROPOSAL AND PROPERTY

AS BUILT DRAWING FOR RESIDENTIAL BLDG. ON LAND BEARING GUT NO.122/1/B, AT VILLAGE - VICHUMBE, TALUKA -PANVEL, DIST - RAIGAD.



VIJTAAR ARCHITECTS & PLANNERS SHREE NAND-DHAM WING., A-505/506, PLOT NO 59, SECTOR-11, C.B.D.-BELAPUR, NAVI-MUMBAI, 400 614. PH. 27580241, 27580242, FAX-27580243 vistaar@hotmall.com, vistaar1@gmall.com

ADDRESS OF LICENSED ARCHITECT



